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TRET(KF)a—K {TEHT (KF) £ 30 31 32 33 34 35 36
1300 A ZEMT 3 2 3 3 4 1 2
1310 KRIGHET 3 0 0 0 0 0 1
9999 AR XE 176 190 173 183 168 162 175
1510 HEHD _E BT 18 10 11 16 7 14 15
1520 HEH T BT 12 11 13 8 8 21 12
1530 HE 0 ST BT 6 10 5 3 5 5 5
1540 KiaFHT 10 6 9 8 5 8 11
9999 HERNAR X B 46 37 38 35 25 48 43
2010 = BHRHET 5 1 4 8 8 7 7
2020 %= ErhHET 9 8 9 6 15 8 6
2030 HNET 0 0 0 0 0 1 1
2040 HET—TH 7 6 3 3 2 3 3
2050 HMET—TH 3 4 5 3 4 5 5
2060 ¥o FE BT 4 0 1 0 1 2 1
2070 FRET—TH 5 3 12 5 7 4 4
2080 FRET—TH 3 3 1 5 4 4 4
2090 ¢4 35 30 38 32 34 47 48
2100 ==pld:] 15 4 9 7 12 12 7
2110 HEAIEET—T B 3 3 5 5 0 2 5
2120 HENIERET =T B 11 1 1 10 2 5 5
9999 ZEREXE 100 63 88 84 89 100 96
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2520 K BEET 31 26 35 50 38 47 29
2530 = /NERET 8 6 9 6 8 6 10
2540 FHIGHET 5 2 3 3 8 8 9
2550 AT 7 3 5 4 8 5 5
2560 = BT 25 19 24 26 24 28 21
2570 KEHT 2 3 0 2 1 4 1
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3010 RATHET 21 16 15 17 16 29 22
3020 ETHT 28 34 20 25 15 28 24
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3540 Z R KHET 6 6 4 8 3 5 11
3550 AEFHT 16 1 13 13 13 12 18
3560 = T AT 6 5 9 7 3 10 7
3570 =TT 25 19 13 7 10 22 11
3580 SE L FrET 18 11 13 7 7 15 13
3590 JERT 0 0 0 0 0 0 0
9999 = ERRE 97 88 89 72 68 107 94
4010 21| N ET 4 4 2 4 2 7 4
4020 ESHT 0 1 2 3 0 1 2
4030 5HT 2 7 4 4 5 3 6
4040 = HEAET 5 8 3 3 2 6 3
4050 K EHT 9 7 10 11 9 12 10
4060 EBEF HET 5 14 15 10 15 11 9
4070 e R AT 3 8 5 2 3 3 1
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4100 A FFNET 1 4 4 3 5 7 5
4110 Jt FFOET 4 3 3 6 4 6 4
9999 R XE 49 70 63 59 53 65 49
4510 EREE—ZRHT 9 8 13 11 18 17 23
4520 B FKMET 3 7 3 4 5 7 6
4530 ARE=FEHT 5 3 4 5 0 6 4
4540 AR FHT 4 0 1 2 4 2 4
4550 AR A FMET 1 1 3 3 1 5 1
4560 BREE N TEHET 4 2 2 2 1 2 6
4570 ARECFHET 3 1 1 6 1 2 4
4580 AREE)\FEHT 3 1 2 2 4 2 1
4590 FRENEHET 3 5 2 5 5 3 4
4600 AL+ FHET 4 8 2 4 5 7 0
4610 ERE+ —FHET 3 7 9 6 7 5 3
4620 B+ — FKMET 11 15 5 7 5 4 3
9999 BERRXET 53 58 47 57 56 62 59
5010 RE#0 B HEHT 4 4 5 5 5 8 5
5020 B AN BA &L ET 2 4 3 3 7 3 4
5030 R E{—HT 4 7 9 5 7 4 5
9999 RBFIR X ET 10 15 17 13 19 15 14
5510 o AT 4 3 4 3 4 5 3
5520 = Hh AT 14 13 15 12 10 17 14
5530 k=Y 7 1 6 14 8 7 14
5540 HERT 3 6 4 4 8 5 6
5550 ERHT 1 0 0 0 1 2 2
9999 =R XE 29 33 29 33 31 36 39
6010 i) BT /)N B 3 2 0 2 2 1 3
6020 fit] BT 2 2 5 4 1 2 2
6030 RE BT &)1 1 1 1 2 1 1 1
6040 1M 4 5 5 3 5 3 9
6050 JIIEHET R 1 0 2 2 2 3 1
6060 JIIEB BT 0 3 3 4 3 4 0
9999 BEEMRRXET 11 13 16 17 14 14 16
6510 HEA#EAHET 1 1 1 0 1 0 0
6520 HE A KIEHT 5 4 4 3 4 2 2
6530 BHEAFHHET 1 1 1 2 1 1 1
6540 HEAILUTH 2 5 2 3 2 4 1
6550 HEAMN 2 NHET 0 1 1 1 3 4 1
6560 HEAEALHT 1 7 1 3 2 4 5
6570 HEAIERHT 1 2 4 2 2 0 1
6580 HZEAEHRT 0 1 1 0 0 1 2
6590 HEARHE 1 2 0 0 0 0 0
6600 HEAHHT 0 1 3 0 1 2 2
6610 HEA LTEHT 0 0 2 0 1 1 2
6620 HEAHFHHET 1 0 1 0 1 1 1
6630 HEA T 0 1 0 0 0 0 1
6640 HEARA EBHT 1 1 0 0 0 1 0
6650 HEAKHE 0 0 0 0 0 0 0
6660 HEAFRHT 0 0 0 0 0 0 0
9999 HEAKRRKE 14 27 21 14 18 21 19
7010 ZRIMOHET 3 4 2 3 0 5 3
7020 ZRKH 8 5 5 3 5 2 2
7030 Z RIRHAHET 1 1 0 1 1 2 0
7040 Z R KEFHT 1 0 2 2 1 2 1
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8011 IRAETFEERLY 1 1 1 0 1
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8021 IR AHETIZRKLY 0 2 2 3 2
8022 IRAHETIRKA 0 0 0 0 0
8023 IR ARET K& 0 0 0 0 0
8031 IRAHET R ALY 2 2 4 0 2
8032 IRAET R AR A 1 0 0 1 0
8033 IRAET R A (& 0 0 0 0 0
8041 IRAHETBEIFLY 0 1 2 1 1
8042 IRAET LIRS 1 1 0 0 0
8043 IR A HT B60% (X 0 0 1 0 0
8044 IRART 85I 1 0 1 0 0
8045 IR A HT 860% (F 1 0 0 1 2
8050 IRAET IR A 4 3 1 1 3
8060 R A ET R 2 1 0 2 2
8070 IRAETEAR 1 0 2 1 1
8080 Y A< BT S48 1 0 1 0 0
8090 IR A BT B 0 1 0 1 1
8100 IRAETH /R 0 0 0 0 0
8110 IR ASHET )] 5% 0 0 0 0 0
8120 IR A ETER 0 1 0 3 0
8130 IRAHETH L 2 1 0 0 0
8140 IRAKETEEERT 1 1 0 0 1
8150 IRAETEEERL 1 0 3 1 2
9999 AR X ET 24 17 21 20 20
9010 FTHEHIREH 12 1 18 16 10
9020 FTHEHIEEAR 6 6 9 5 8
9030 FTHE#%#H 26 20 22 38 38
9040 FTHEHEE 27 29 25 28 34
9999 FTHREE 71 66 74 87 90
9110 SEHTHIE 9 8 13 8 9
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9130 FEHHRE 3 0 2 4 2
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9150 $EET 63 6 12 7 13 18
9160 SERTEEAT 23 12 17 12 16
9170 $ERTINE 14 19 17 20 25
9180 SEET 85 6 13 9 10 7
9190 $ERTZ A 5 6 5 2 10
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9210 SEET = 11 7 10 8 10
9220 SEHT I 10 8 13 16 5
9230 SEET B M 16 12 17 8 10
9240 SERTIE R 5 6 7 6 8
9250 $ERTIL Frith 14 19 14 12 26
9999 FERXET 139 137 146 131 161
9310 R[ZHET AR 2 3 0 1 1
9320 R ISHETIE 3 5 2 3 5
9330 R ISET/INE 2 3 2 0 1
9340 RIZHTE 5 4 4 4 7
9999 RGHRXET 12 15 8 8 14
9410 RETT&E 4 6 10 12 8
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9440 RETAGEF 0 0 0 0 0
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9460 RETCHE 0 0 0 0 0
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TEET (AF)3—F {TIRET (KF) 4 40 41 42 43 44 45 46 47 48 49
10 H ET 3 3 3 2 2 5 4 5 5 3
20 [ st BT 6 3 2 3 4 6 6 2 2 5
30 1B HET 5 5 5 3 4 4 7 4 7 6
40 LRHET 1 5 5 3 4 4 2 1 3 2
50 AET—TH 3 6 5 8 10 4 7 11 5 6
60 ABTZ_TH 4 3 5 3 6 7 6 6 10 3
70 ABT=TH 3 9 6 9 11 8 9 15 11 11
80 KT I T 1 1 0 0 1 2 2 1 1 1
90 PR T I AT 6 2 3 7 1 2 5 3 3 5
100 b FLET 1 2 8 1 3 4 7 8 3 3
110 ¥ASTHET 38 29 37 42 39 3 34 38 41 36
120 L /NAW. N 2 8 9 9 4 9 6 2 3 4
130 FEFET 8 14 3 18 10 12 11 9 8 10
140 £ ] T 0 0 0 0 1 1 0 0 1 0
150 eSS 11 7 11 10 7 16 8 10 8 13
9999 KRB XET 92 97 102 118 107 120 114 115 117 108
510 ABRTUTH 10 9 12 10 7 6 12 10 10 2
520 heEE ET 8 6 9 6 5 1 5 1 4 2
530 J\ T 3 5 6 5 5 5 3 4 3 7
540 18 = ET 13 10 9 20 18 17 9 15 17 17
550 Hrith BT 4 17 11 11 8 16 11 16 16 9
560 = ZRET 3 2 2 1 0 0 3 1 2 4
570 EEHT 2 3 0 1 5 3 1 1 2 0
580 HrBAET 5 2 5 5 3 4 0 2 0 1
590 HriEET 0 0 1 0 1 1 2 1 1 2
600 ANET 14 13 16 13 21 14 16 18 14 20
610 AHT 3 3 3 2 4 4 2 1 6 1
620 HAE—TH 0 0 0 0 0 0 0 0 0 0
9999 J\RBREXET 65 70 74 74 77 71 64 70 75 65
1010 EHHET 0 5 5 5 8 6 3 7 10 8
1020 L FHT 13 7 4 11 5 9 9 7 6 5
1030 d A ET 8 9 8 7 8 10 3 5 7 5
1040 i ayil] 9 10 15 14 8 12 2 13 7 13
1050 K EBT 13 10 18 18 13 15 20 15 17 17
1060 F _EHT 15 9 11 16 10 17 17 21 15 14
1070 wr IR ET 13 16 15 11 13 16 16 15 19 17
1080 E HHT 14 7 8 6 12 12 13 18 21 10
1090 HEHr 16 15 21 17 15 17 23 13 16 18
1100 L AEHR 20 16 13 10 17 10 17 7 9 13
1110 f21EMT 3 3 5 2 5 7 3 7 4 5
1120 fE1E STHT 0 0 1 1 3 0 0 3 0 1
1130 + &< HT 0 2 0 0 1 1 0 0 1 0
1140 Fh R BT 0 0 0 1 1 1 1 2 0 0
1150 FRET—TH 2 2 5 5 2 6 4 3 4 4
1160 FEET—TH 3 5 1 8 5 5 9 7 7 7
1170 SE/KHT 0 5 6 5 1 4 7 5 9 4
1180 EEEFLET 3 4 5 7 4 5 7 10 8 8
1190 1 FAHT 2 4 5 7 3 5 4 4 3 8
1200 KFE—TH 1 5 2 3 4 3 6 2 5 5
1210 RKFEHEIZTH 3 8 5 5 4 0 4 2 0 6
1220 HHET 2 5 1 8 5 4 3 5 3 3
1230 FkHET 2 5 2 4 5 2 3 3 3 6
1240 =T 3 2 5 5 2 2 5 2 3 1
1250 TE BT 2 2 2 6 5 4 3 3 9 2
1260 B & 0 0 1 1 1 0 1 1 3 0
1270 EHEH 7 5 6 1 4 5 2 2 3 4
1280 PRAEHT 4 5 1 4 9 6 3 4 3 4
1290 SRET 4 7 6 5 2 4 6 6 1 7
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TEET (XF)a—F {TIHET (KF) 4 40 M 42 43 44 45 46 47 48 49

1300 4 ZER/T 1 5 0 0 1 3 0 4 0 2
1310 KRIGHET 1 2 0 3 1 0 3 2 5 5
9999 AR XE 164 180 177 196 177 191 197 198 201 202
1510 HEHD _E BT 18 18 16 21 25 18 14 26 13 21
1520 HEH T BT 19 27 20 18 17 25 13 17 19 16
1530 HE 0 ST BT 6 8 11 10 12 7 1 6 7 9
1540 KiaFHT 13 13 16 18 17 9 15 15 16 15
9999 HERNAR X B 56 66 63 67 71 50 43 64 55 61
2010 = BHRHET 6 6 6 2 5 5 6 6 3 7
2020 %= ErhHET 10 12 8 16 9 7 9 6 8 7
2030 HNET 0 0 2 1 0 0 0 1 0 0
2040 HET—TH 0 7 7 4 7 2 12 8 8 5
2050 HMET—TH 3 5 4 5 5 3 6 6 5 11
2060 ¥o HE T 1 3 0 1 0 2 1 0 1 0
2070 FRET—TH 2 3 4 3 7 8 5 6 10 3
2080 FRET—TH 3 3 1 9 4 4 4 8 8 5
2090 =L:1:] 44 39 48 42 43 44 43 36 27 44
2100 ==pld:] 9 10 4 5 4 5 9 6 6 3
2110 HEAIEET—T B 6 8 7 6 2 6 5 5 11 6
2120 HENIERET =T B 6 8 5 4 6 9 9 5 5 4
9999 ZEREXE 90 104 96 98 92 95 109 93 92 95
2510 FA 5 BT 69 82 75 62 711 71 53 43 45 66
2520 JKEERT 36 41 35 34 42 33 28 35 45 45
2530 = /NERET 6 8 11 11 15 12 10 16 11 13
2540 FHIGHET 9 6 7 14 9 15 6 1 9 7
2550 JPET 3 6 5 5 4 8 3 3 5 7
2560 =11 27 31 27 27 20 29 22 29 21 22
2570 KEHRT 3 2 2 1 0 0 1 3 0 3
9999 WERXE 153 176 162 154 161 168 123 140 136 163
3010 RATHT 23 22 34 28 27 16 30 26 25 26
3020 ELTITHT 20 28 24 42 26 31 29 24 36 35
3030 L EFHT 22 24 19 24 32 38 25 25 18 35
3040 HES AT 2 4 3 4 1 4 9 6 2 6
3050 T BN ch BT 54 60 56 52 54 54 52 52 50 53
3060 HEETHT 8 6 7 8 12 10 11 13 8 8
3070 T BRERT 15 14 12 14 10 9 11 16 14 9
3080 H ch T 14 13 21 16 15 14 6 14 11 17
3090 BT 16 10 12 15 18 9 12 8 4 19
3100 22 l==lsic: ) 12 13 15 16 18 17 16 13 11 21
3110 z:l==Bld:!1) 11 11 10 14 7 8 7 9 11 9
9999 I\ TFIBRXET 206 205 213 233 220 210 208 206 190 238
3510 ER_LH 1 6 5 8 3 1 2 3 4 6
3520 E R 3 9 14 12 4 1M 12 9 8 13
3530 ERTHT 15 23 29 19 3 30 30 30 19 25
3540 Z= R KHT 12 6 12 12 11 6 13 10 8 17
3550 A EFHET 26 17 19 21 18 17 15 18 23 14
3560 = T AT 4 6 9 14 4 8 7 3 6 5
3570 = T FaHlT 16 15 15 19 23 19 23 18 21 32
3580 S\l FhT 17 24 14 14 13 15 10 17 11 16
3590 JERT 0 1 0 0 0 0 0 0 0 0
9999 = ERRE 94 107 117 119 111 107 112 108 100 128
4010 21| N ET 9 11 9 5 10 10 6 7 10 7
4020 EEH 1 2 2 2 1 4 5 2 3 2
4030 15T 11 7 8 8 7 6 7 4 10 8
4040 = HEAET 1 4 7 6 3 4 10 4 10 9
4050 K EHT 5 11 13 16 8 10 11 1 14 10
4060 e ) 8 10 8 5 7 11 7 13 10 8
4070 Jt [ ET 3 7 2 5 4 3 4 7 2 6
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4090 FR B ET 8 10 11 6 3 8 9
4100 A FFNET 2 4 1 3 2 0 1
4110 Jt FFOET 3 3 2 2 2 6 2
9999 R XE 58 72 68 65 52 71 68
4510 ERE—FHET 16 10 12 22 12 13 17
4520 B FKMET 3 1 4 6 7 4 2
4530 ARE=FEHT 5 1 5 2 1 1 2
4540 FREmMEHET 2 2 4 4 1 3 3
4550 AR A FMET 4 1 1 3 4 5 1
4560 BREE N TEHET 0 0 1 0 1 1 0
4570 ARECFHET 2 9 4 4 4 1 5
4580 AREE)\FEHT 4 2 3 0 0 1 1
4590 FRENEHET 6 2 2 3 1 3 3
4600 L+ FHET 5 2 4 4 0 1 4
4610 ARE+—ZHET 4 2 6 3 5 2 2
4620 B+ — FKMET 5 5 3 8 4 2 10
9999 BERRXET 56 37 49 59 40 37 50
5010 RE#0 B HEHT 5 1 5 5 4 5 3
5020 B AN BA &L ET 2 5 8 2 6 4 4
5030 REFNE{_HT 3 6 7 3 3 5 4
9999 RBFIR X ET 10 12 20 10 13 14 11
5510 o R ET 4 3 2 9 8 9 4
5520 = Hh T 27 26 17 16 17 15 11
5530 =y 14 16 13 14 11 17 16
5540 =y 5 5 8 3 4 3 8
5550 ERHT 1 0 0 2 0 0 0
9999 =R XE 51 50 40 44 40 44 39
6010 i) BT /)N B 2 0 3 6 3 1 1
6020 fit] BT 5 1 2 1 1 2 0
6030 RE BT &)1 0 2 3 0 1 1 1
6040 = R [T 6 4 1 3 9 1 5
6050 JIIEHET R 1 2 0 2 4 8 3
6060 JIIEB BT 2 1 1 4 4 3 6
9999 BEEMRRXET 16 10 10 16 22 16 16
6510 HEA#EAHET 0 1 0 0 0 1 0
6520 HE A KIEHT 6 5 2 6 9 0 1
6530 BHEAFHHET 0 3 0 5 0 1 6
6540 HEAILTH 4 4 4 5 1 5 5
6550 HEAM 2 NET 3 5 2 2 2 2 3
6560 HEAEALHT 5 2 1 1 3 0 4
6570 HEAIERHT 3 3 0 4 1 2 5
6580 HZEAEHRT 1 2 0 0 1 1 0
6590 HEARHE 0 1 0 0 1 1 0
6600 HEAHHT 3 1 1 1 0 0 5
6610 HEA LTEHT 1 0 0 0 1 0 1
6620 HEAHFHHET 0 1 1 0 1 1 1
6630 HEA T 0 0 2 1 1 1 0
6640 HEARA EBHT 1 0 1 0 1 0 1
6650 HEAKHE 0 0 0 0 0 0 0
6660 HEAFRHT 0 0 0 0 0 0 0
9999 HEARRE 27 28 14 25 22 15 32
7010 ZRINOHET 3 3 1 2 1 3 2
7020 ZRARHT 10 8 11 14 3 6 6
7030 Z RIRHAHET 0 0 2 3 1 1 1
7040 ZRTXKEFHET 6 7 0 3 5 2 9
7050 Z REFHIGHET 3 2 3 2 4 2 1
9999 ZR®EXE 22 20 17 24 14 14 19
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8044 IRART 85I 0 0 1 1 1
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9120 SEHTHIE 8 7 7 6 4
9130 FEHHRE 2 2 4 4 3
9140 SERT T4 8 11 13 14 7
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9160 SEETER AT 20 19 21 20 18
9170 $ERTINE 35, 23 23 22 21
9180 SEET 85 9 14 13 14 9
9190 $ERTZ A 6 3 5 6 4
9200 SR HT B 6 7 5 5 2
9210 SERTE H 13 9 8 12 10
9220 55 BT i 14 15 18 13 16
9230 SEET B M 9 14 9 20 17
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9250 $ERTIL Frith 14 1 18 11 12
9999 FERXET 178 158 181 175 159
9310 R[ZHET AR 3 3 4 3 6
9320 R ISHETIE 4 4 9 5 6
9330 RIZET/INAE 1 5 2 2 4
9340 RIZHTE 7 7 10 4 7
9999 RGHRXET 15 19 25 14 23
9410 RETT&E 10 11 4 5 7
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9430 RETEXR 1 3 3 2 2
9440 RETAGEF 0 0 0 0 0
9450 RETHER 1 0 1 0 0
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TEET (XF)3—F {TIRET (K=F) & 40 41 42 43 44 45 46 47

9470 RETER 0 0 0 0 0 0 0 0
9480 RETHEAR 0 2 1 2 5 0 2 1
9999 REXET 16 19 14 13 18 10 16 16
99999 &t 1473 1554 1551 1618 1547 1536 1528 1538

48 49
0 0
3 1

21 23

1514 1665



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TRET(KF)a—K {TEHT (KF) £ 50 51 52 53 54 55 56 57
10 H ET 3 8 4 4 6 4 3 7
20 [ st BT 1 4 1 3 1 1 3 5
30 1B HET 2 3 7 2 7 2 9 5
40 LRHET 0 3 0 0 3 3 2 1
50 AET—TH 4 2 4 10 5 6 12 3
60 ABTZ_TH 3 5 2 3 2 4 4 1
70 ABT=TH 6 12 17 12 8 6 7 9
80 KT I T 1 1 0 0 3 0 2 0
90 PR T I AT 3 8 3 2 6 4 6 2
100 b FLET 3 2 1 4 3 1 5 2
110 ¥ASTHET 30 34 39 28 31 24 28 21
120 NN 6 6 3 3 6 5 3 3
130 FEFET 5 13 10 10 5 6 11 12
140 £ ] T 0 0 0 0 0 0 0 0
150 eSS 5 10 12 7 8 6 6 11
9999 KRB XET 72 111 103 88 94 72 101 82
510 ABRTUTH 8 5 5 9 5 7 14 10
520 heEE ET 0 3 0 1 2 4 2 1
530 J\IEHT 5 7 9 7 6 4 4 10
540 18 R ET 9 19 9 21 8 10 12 14
550 it AT 4 19 10 8 4 12 5 14
560 = ZRET 2 4 4 1 5 1 5 2
570 EEmT 0 2 1 2 2 0 0 2
580 HrBAET 1 4 2 1 3 3 2 3
590 HriEET 0 0 1 0 2 3 1 1
600 ANET 17 16 15 24 18 14 12 23
610 T 1 2 8 4 2 6 3 14
620 HAE—TH 0 0 0 0 0 0 0 0
9999 J\RBREXET 47 81 64 78 57 64 60 94
1010 EHHET 2 3 5 9 9 4 7 4
1020 L FHT 8 10 7 6 9 8 10 6
1030 i ET 8 4 4 4 17 6 11 3
1040 78 A HT 9 15 13 21 18 13 17 21
1050 R HEHHAT 14 18 9 14 20 12 16 15
1060 F _EHT 11 21 17 9 15 12 15 20
1070 Hr IR ET 14 16 17 10 18 21 20 12
1080 E HHT 9 9 18 21 13 15 14 4
1090 HEHr 12 24 12 14 14 15 19 25
1100 L BEHR 12 13 12 8 15 9 12 15
1110 f21ERT 2 3 2 5 5 0 3 3
1120 f21E JTHT 0 1 3 3 3 4 2 4
1130 + 0T 0 1 0 0 1 0 3 0
1140 Fi R T 0 0 0 1 0 0 1 0
1150 FRET—TH 8 6 4 8 7 3 5 3
1160 HER_TH 5 5 11 7 8 12 7 9
1170 SE/KHT 1 6 5 2 4 2 4 5
1180 EBEAHT 3 6 5 4 8 8 5 8
1190 ¥ F AHT 6 2 2 2 1 3 5 4
1200 KFE—TH 2 4 6 2 3 2 5 3
1210 RKFEHEIZTH 5 3 6 6 3 3 5 2
1220 HHET 2 2 9 0 3 4 4 1
1230 FkHET 2 6 8 8 4 7 8 12
1240 HEHT 2 2 6 4 4 2 3 1
1250 TEEET 5 2 7 6 6 3 7 2
1260 B & 0 1 0 5 0 0 1 5
1270 HEHE 0 3 8 3 3 6 5 2
1280 PRAEHT 3 2 5 6 4 2 1 2
1290 SRET 4 1 5 3 4 3 1 4
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TEET (XF)a—F {TIHET (KF) 4 50 51 52 53 54 55 56 57 58 59

1300 4 TEfT 5 4 5 2 2 2 3 6 2 0
1310 KRIGHET 1 3 2 2 4 5 3 4 3 3
9999 AN B X ET 155 196 213 195 225 186 222 205 193 193
1510 HEHD _E BT 10 30 28 14 14 17 16 20 25 23

1520 HEH T BT 18 20 13 13 15 25 22 23 15 22
1530 HE 0 ST BT 5 11 11 7 6 8 6 11 10 19
1540 KiaFHT 8 13 14 15 9 12 22 12 17 20
9999 HERNAR X B 41 74 66 49 44 62 66 66 67 84
2010 = BHRHET 5 7 6 3 3 5 4 6 1 2
2020 %= ErhHET 8 7 6 7 13 6 6 5 9 7
2030 HNET 0 0 0 0 1 0 0 0 1 4
2040 HET—TH 2 11 8 5 4 6 5 4 6 6
2050 HMET—TH 3 8 3 5 0 3 5 2 6 4
2060 ¥o HE T 0 2 0 1 0 2 2 1 1 3
2070 FRET—TH 7 5 7 4 5 7 10 7 9 6
2080 FRETZTH 6 1 7 5 5 8 3 5 1 6
2090 =L:1:] 33 44 40 29 49 45 54 36 44 53
2100 ==pld:] 3 5 5 8 5 3 5 6 7 4
2110 HEMIETET—T B 7 12 9 7 9 7 7 7 7 5
2120 FENNFET =T B 4 6 7 12 8 4 2 7 13 9
9999 ZEREXE 78 108 98 8 102 96 103 86 105 109
2510 FA 5 BT 31 54 49 41 60 52 46 69 57 48
2520 JKEERT 33 37 36 38 3 34 32 38 34 38
2530 =/ RET 9 10 10 5 13 9 16 11 7 6
2540 FHiGHT 11 11 10 13 15 20 9 8 16 16
2550 AT 12 4 8 7 2 2 11 8 7 4
2560 =BT 21 34 22 17 171 21 21 27 28 24
2570 KEHRT 0 0 2 1 0 1 1 3 3 3
9999 WERRXE 117 150 137 122 142 139 136 164 152 139
3010 RATHET 23 19 27 23 27 19 25 27 24 20
3020 ELTITHT 26 34 19 24 25 18 18 29 18 21
3030 L EET 20 26 26 24 18 21 21 17 14 24
3040 HES AT 1 2 6 2 2 3 4 5 4 4
3050 HES R ET 45 58 51 54 40 53 66 46 52 47
3060 HERTHT 10 17 11 13 12 16 15 19 12 14
3070 =12 ) 8 16 11 11 7 9 11 19 14 13
3080 sZ)==:) 6 6 11 7 11 8 10 8 7 8
3090 BT 7 1 6 5 15 9 4 12 4 9
3100 22 l==lsic: ) 11 8 17 15 11 13 14 12 11 12
3110 EZl==Fld:)) 6 17 11 1 16 12 17 16 21 8
9999 I\ TFIBRXET 163 214 196 189 184 181 205 210 181 180
3510 ER T 3 5 13 12 4 5 8 9 4 4
3520 E R 6 9 6 9 10 4 9 1 8 12
3530 ERTHT 17 28 24 28 29 22 27 3 27 30
3540 Z= R KHT 4 13 11 9 13 17 13 9 7 13
3550 A EFHET 30 24 17 22 16 27 23 28 24 20
3560 = T AT 9 5 1 8 6 18 7 5 8 9
3570 = T FaHlT 17 16 14 14 14 18 22 20 26 21
3580 S\l FhT 12 9 17 11 12 14 10 16 14 19
3590 JERT 0 0 0 1 0 1 0 0 0 0
9999 = HERXE 98 109 103 114 104 126 119 128 118 128
4010 21| N ET 8 6 3 10 4 8 3 8 9 9
4020 ESHT 1 3 2 0 2 2 2 1 1 1
4030 15T 4 4 8 5 11 5 6 7 6 8
4040 = HEAET 5 8 3 9 4 6 4 5 2 4
4050 K EHT 11 8 11 15 17 13 14 13 11 16
4060 ER 4 HHET 7 10 5 5 4 8 5 8 7 8
4070 e R AT 4 4 5 8 7 7 7 1 8 9



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TRET(KF)a—K {TEHT (KF) £ 50 51 52 53 54 55
4080 =T HAET 8 9 2 8 3 8
4090 FRUER BT 8 12 4 10 9 8
4100 A FFNET 6 1 4 1 2 8
4110 Jt FFOET 3 0 3 3 2 6
9999 R XE 65 65 50 74 65 79
4510 ERE—FHET 12 22 21 13 22 19
4520 B FKMET 5 7 1 2 9 2
4530 ARE=FEHT 1 1 2 6 8 5
4540 AR FHT 2 5 3 3 5 4
4550 AR A FMET 1 4 2 2 3 3
4560 BREE N TEHET 1 2 2 1 2 2
4570 ARECFHET 2 3 3 6 1 6
4580 AREE)\FEHT 0 0 1 1 0 0
4590 FRENEHET 2 1 2 0 2 1
4600 AL+ FHET 3 3 2 7 4 3
4610 ARE+—ZHET 0 2 9 1 4 10
4620 B+ — FKMET 7 4 7 9 3 5
9999 BERRXET 3 54 55 51 63 60
5010 RE#0 B HEHT 2 6 9 3 8 5
5020 RE FNBAEET 2 4 8 3 6 6
5030 REFORE{ZHT 4 5 6 10 10 5
9999 AR FNR X &Y 8 15 23 16 24 16
5510 o RET 4 3 6 8 11 6
5520 = Hh BT 10 11 10 17 11 18
5530 k=Y 8 10 14 9 17 7
5540 HERT 4 3 3 4 5 11
5550 RHET 1 2 5 2 2 1
9999 =R XE 27 29 38 40 46 43
6010 i) BT /)N B 0 2 1 4 2 3
6020 fit] BT 2 4 5 1 4 3
6030 RE BT &)1 1 2 2 4 1 4
6040 = R [T 3 6 5 6 6 13
6050 JIIEHET R 7 3 1 4 12 3
6060 JIIEB BT 1 3 3 1 0 1
9999 BEEMRRXET 14 20 17 20 25 27
6510 HEA#EAHET 0 2 0 1 1 2
6520 HE A KIEHT 7 2 3 7 5 2
6530 BHEAFHHET 3 1 3 4 4 3
6540 HEAILUTH 1 1 3 4 5 2
6550 HEAMN 2 NHET 1 3 0 0 3 2
6560 HEAEILHT 1 3 3 3 3 0
6570 HEAIERHT 2 3 2 2 5 4
6580 HZEAEHRT 1 2 1 5 1 4
6590 HEARHE 1 0 1 4 0 3
6600 HEAHHT 2 4 2 0 3 0
6610 HEA LTEHT 1 0 2 1 2 3
6620 HEAHFHHET 1 3 0 0 2 1
6630 HEA T 0 2 4 1 3 1
6640 HEARA EBHT 1 0 3 1 0 0
6650 HZEASKHET 0 0 0 1 0 1
6660 HEAFRHT 0 0 0 0 0 0
9999 HEARRE 22 26 27 34 37 28
7010 ZRINOHET 5 4 6 2 4 2
7020 Z RKHET 4 8 3 8 20 8
7030 Z RIRHAHET 2 1 5 3 4 2
7040 ZRTKEFHET 3 10 4 3 8 7
7050 Z REFHIGHET 3 0 5 2 6 5
9999 ZR®EXE 17 23 23 18 42 24
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TBET(KF)a—F {TEHET (KF) 4 50 51 52 53 54 55 56 57 58 59
8011 IRAETFEERLY 5 1 2 3 2 1 2 2 3 2
8012 IRABTFERA 4 8 5 5 5 6 7 4 6 3
8013 IRAETE R (& 1 0 1 1 2 1 2 7 3 1
8021 IR AHETIZRKLY 0 0 4 0 3 2 0 2 4 3
8022 IRAHETIRKA 0 0 0 0 0 0 0 1 0 0
8023 IR ARET K& 1 0 0 0 0 0 0 0 0 0
8031 IRAHET R ALY 2 8 2 1 9 2 3 3 7 6
8032 IRAET R AR A 0 0 0 0 0 0 0 2 0 2
8033 IRAET R A (& 0 0 0 0 0 0 2 1 1 0
8041 IR AHET ALY 0 0 1 0 2 0 3 2 2 1
8042 IRAET LIRS 0 1 0 1 4 2 1 3 2 1
8043 IR A HT B60% (X 0 1 0 1 0 1 0 1 0 0
8044 IR AHET 840F (1 0 0 0 1 0 1 2 3 2 3
8045 IR A HT 860% (F 1 0 1 1 2 3 2 0 3 2
8050 IRAET IR A 1 6 5 2 3 3 5 3 7 4
8060 R A ET R 4 5 2 3 5 7 6 6 5 7
8070 IRAETEAR 3 1 2 3 2 3 6 4 4 2
8080 IR A BT S %A 1 0 0 1 2 2 4 3 3 8
8090 IR A BT B 4 1 2 0 0 0 1 3 2 1
8100 IRAHET T /R 1 0 0 0 0 1 0 0 0 0
8110 IR A ET 1|55 0 1 0 1 0 0 5 0 1 3
8120 IR A ETER 1 3 3 0 3 1 2 1 5 1
8130 IRAHBTHL 3 6 0 2 3 5 3 3 5 2
8140 IRAKETEEERT 2 4 5 4 3 2 5 3 2 4
8150 IRAETEEERL 3 5 2 3 3 2 2 2 4 6
9999 IRAR X ET 37 51 37 33 53 45 63 59 71 62
9010 FTHAREH 17 15 21 13 24 9 11 16 25 20
9020 FTHEHIEEAR 7 9 13 12 5 11 11 8 12 9
9030 FTHI#%EH 19 23 31 33 24 3 31 31 29 35
9040 FTHHEEE 20 29 41 30 34 41 39 46 39 40
9999 FTHREE 72 76 106 88 87 91 92 101 105 104
9110 EET T AL 12 14 13 17 17 1 11 6 8 14
9120 =T Ak 10 8 7 7 5 4 3 6 8 0
9130 FEHHRE 5 4 1 8 4 7 3 2 11 4
9140 SEET T AT 8 13 12 8 16 15 16 15 15 19
9150 SERT F8E 12 10 12 11 12 20 14 19 8 10
9160 SEET S AT 19 18 19 15 15 19 19 17 17 15
9170 $=ETNE 19 23 28 25 29 25 28 33 25 20
9180 SEET 85 17 16 9 15 17 15 14 22 23 17
9190 $ERTZ A 4 4 2 4 1 3 6 6 7 7
9200 £ BT B 15 7 4 5 4 13 9 11 10 7 9
9210 $ERT = H 8 7 10 6 8 11 21 12 6 19
9220 $EAT I 10 17 15 17 19 11 14 13 13 18
9230 SEET B M 9 17 22 15 20 17 23 21 22 20
9240 SEHTIE R 7 11 10 9 8 8 9 11 10 12
9250 SEATAL Frih 6 11 17 16 15 15 13 16 21 14
9999 FERXET 153 177 182 177 199 190 205 209 201 198
9310 R[ZHET AR 6 5 2 9 9 9 10 6 6 9
9320 R I5HETAL 6 5 9 10 8 3 11 4 13 6
9330 R ISET/INE 3 2 9 2 3 6 8 6 8 6
9340 RIZHTE 8 19 20 11 16 8 8 11 9 12
9999 RGHRXET 23 31 40 32 36 26 37 27 36 33
9410 RETE 11 12 12 8 13 9 12 11 16 18
9420 RETHAE 3 5 5 6 4 7 6 3 8 9
9430 RETEXR 2 4 6 2 5 2 6 6 0 7
9440 RETAEF 0 1 0 2 0 1 0 0 0 2
9450 RETHE[R 0 2 0 0 2 0 0 1 1 1
9460 RET{ZHE 0 2 0 0 1 0 3 2 1 1



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TEET (XF)3—F {TIRET (K=F) & 50 51 52 53 54 55 56

9470 RETER 0 0 0 1 0 0 1
9480 RETHEAR 4 1 2 4 1 0 2
9999 REXET 20 27 25 23 26 19 30
99999 &t 1265 1637 1603 1527 1655 1574 1739

57 58 59
1 0 0
2 1 0

26 27 38

1747 1705 1732



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TBET(KF)a—F {TEHET (KF) 4 60 61 62 63 64 65 66 67 68 69
10 H ET 4 1 5 5 4 10 4 8 4 7
20 [ st BT 6 4 6 4 6 6 5 8 2 3
30 1B HET 7 3 3 12 4 4 9 9 9 7
40 LRHET 4 1 8 4 4 4 5 6 4 6
50 AET—TH 10 8 7 7 10 14 15 11 21 11
60 ABTZ_TH 5 5 2 8 6 6 6 10 6 7
70 ABT=TH 6 5 9 10 5 11 10 13 7 9
80 KT I T 5 0 4 0 2 0 3 1 1 2
90 PR T I AT 9 5 10 4 5 6 6 15 7 12
100 b FLET 5 4 7 5 4 4 4 5 3 4
110 ¥ASTHET 32 3 35 32 31 26 33 41 32 36
120 L /NAW. N 6 7 2 10 6 7 5 6 5 8
130 FEFET 8 8 8 5 15 13 16 12 14 12
140 £ ] T 0 0 0 0 0 0 0 0 0 0
150 eSS 8 6 7 8 13 9 13 3 9 10
9999 KRB XET 115 92 113 114 115 120 134 148 124 134
510 ABRTUTH 14 14 15 16 16 21 12 19 8 16
520 heEE ET 6 1 3 2 1 4 6 5 5 6
530 J\ T 7 8 6 7 8 7 6 11 8 6
540 15 EET 8 8 10 13 9 8 15 15 15 17
550 Hrith BT 13 15 9 9 14 7 8 13 12 12
560 = ZET 3 4 3 2 2 1 1 2 1 1
570 EEET 5 2 4 3 3 2 1 5 3 3
580 HrBAET 3 4 4 2 6 9 4 6 1 1
590 HRHT 1 0 1 1 3 4 2 4 3 6
600 ANET 18 35 25 28 25 28 26 21 17 14
610 HET 10 6 4 10 1 10 7 5 10 3
620 HAE—TH 0 0 0 0 0 0 0 0 0 0
9999 J\RBREXET 88 97 8 93 83 101 88 106 83 85
1010 EHHET 3 9 4 3 3 13 7 10 7 10
1020 L HHET 11 9 15 13 9 12 10 14 18 13
1030 d A ET 7 9 7 9 8 9 8 10 6 1
1040 i ayil] 15 20 12 9 17 16 10 14 13 14
1050 R HEHHAT 17 24 12 14 19 11 18 22 23 18
1060 F _EHT 17 1 16 6 8 13 19 16 12 17
1070 wr IR ET 10 14 19 13 12 16 16 16 10 20
1080 & H|ET 11 9 9 13 11 11 4 14 6 8
1090 HEHr 15 19 17 25 30 27 24 20 16 14
1100 L AEHR 16 15 18 21 12 20 18 22 16 19
1110 f21ERT 3 5 8 2 1 2 4 5 3 1
1120 fE1E STHT 4 0 5 2 2 1 5 3 2 3
1130 + 5T 1 0 2 1 1 0 1 6 1 2
1140 FRRET 0 0 0 0 2 0 0 0 0 0
1150 FRET—TH 4 8 5 3 6 4 10 14 6 6
1160 FEET—TH 8 7 7 6 8 6 9 12 10 12
1170 SHIKHET 4 1 6 1 4 4 6 7 7 4
1180 EEEFLET 3 6 5 5 5 6 15 6 3 6
1190 1 FAHT 6 6 2 5 13 4 7 11 8 9
1200 KFE—TH 3 2 4 2 7 6 2 5 5 4
1210 RKFERIZTH 11 4 4 4 4 7 11 7 10 6
1220 HHET 6 5 1 8 4 4 0 1 8 10
1230 HxHT 8 2 3 7 3 2 11 5 8 3
1240 HEHT 5 4 1 1 2 4 4 5 3 4
1250 TEEET 2 6 3 3 4 3 4 3 5 5
1260 B & 3 2 4 1 1 0 1 2 2 0
1270 EHEH 6 2 5 2 5 1 5 6 4 4
1280 PRAEHT 6 9 3 3 8 9 5 3 5 4
1290 SRET 4 5 5 2 8 2 2 9 6 11



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TEET (XF)3—F {TIRET (K=F) & 60 61 62 63 64 65 66

1300 A ZEMT 4 5 1 4 0 4 5
1310 KRIGHET 2 5 3 0 3 2 0
9999 AR XE 215 223 206 188 220 219 241
1510 HEHD _E BT 18 18 23 23 15 23 36
1520 HEH T BT 18 24 26 23 24 28 33
1530 HE 0 ST BT 9 12 13 8 12 9 11
1540 KiaFHT 18 18 25 16 22 19 22
9999 HERNAR X B 63 72 87 70 73 79 102
2010 = BHRHET 7 3 2 4 4 3 7
2020 %= ErhHET 4 6 7 4 13 6 6
2030 HNET 2 1 0 0 0 1 1
2040 HET—TH 3 5 4 1 3 12 6
2050 HMET—TH 7 6 4 7 8 4 13
2060 ¥o HE T 1 2 3 3 0 1 1
2070 FRET—TH 8 9 7 3 10 10 8
2080 FRET—TH 7 5 6 2 10 6 6
2090 ¢4 57 65 55 64 70 55 66
2100 ==pld:] 7 1 9 12 5 4 7
2110 HEMIETET—T B 4 8 7 11 11 10 6
2120 BRI =T B 7 14 13 8 8 9 12
9999 ZEREXE 114 135 117 119 142 121 139
2510 FA 5 BT 4 57 53 53 53 49 71
2520 K BEET 51 30 39 33 33 42 44
2530 = /NERET 8 13 15 14 17 8 10
2540 Fi5HT 12 10 9 19 21 20 11
2550 JPET 7 12 7 6 10 10 4
2560 =BT 32 34 28 31 28 23 39
2570 KEHT 1 2 2 4 3 4 4
9999 WERRXE 155 158 153 160 165 156 183
3010 RATHET 24 29 25 22 44 29 34
3020 ELTITHT 25 22 19 34 34 29 25
3030 L EET 18 24 18 21 22 20 19
3040 B _ERT 2 6 5 7 6 3 3
3050 HES R ET 67 57 58 49 58 48 68
3060 HEETHT 6 18 13 12 18 11 25
3070 T BREET 16 15 13 16 18 20 22
3080 sZ)==:) 9 5 12 6 8 7 19
3090 BT 7 9 3 6 12 17 9
3100 22 l==lsic: ) 17 13 15 21 14 10 12
3110 EZl==Fld:)) 13 12 11 13 19 15 15
9999 I\ TFIBRXET 204 210 192 207 253 209 251
3510 ER T 4 7 3 10 5 12 9
3520 Z R hHET 11 14 7 7 14 7 10
3530 EETH 33 27 31 27 44 35 30
3540 Z R KHET 9 10 7 15 16 12 19
3550 AEFHT 28 31 27 30 25 22 26
3560 = T AT 14 13 15 15 11 11 12
3570 =TT 25 18 33 22 28 30 31
3580 I ILFTHT 15 15 22 14 14 21 19
3590 JERT 0 0 0 0 0 2 0
9999 = ERRE 139 135 145 140 157 152 156
4010 21| N ET 9 12 5 10 10 11 16
4020 ESHT 5 1 2 3 6 1 3
4030 15T 7 6 4 9 8 17 11
4040 = HEAET 6 6 6 12 7 7 5
4050 K EHT 7 17 15 18 17 20 22
4060 e ) 11 7 10 14 9 10 5
4070 Jt [ ET 4 6 2 4 5 2 4

67

274

NN =N =
~NONJOo
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COINTITOOOONOG © S~ Wwo

149
65
44
16
25

48

209
38
42
25

75
16
16
13
17
12
22
281

22
42
19
35
14
40
22

203
23

11
11

11
7

68

236

158
85
40
11
19

34
10
206
40
32
23

66
16
14
10

11
20
242

22
29
17
32
11
37
27

185
18

13
19

10
11
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11
23
14
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22
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15

10
10
16
19
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[H28.11.30IR7E JATEET & (KF) Al FE 5B A O HFH (55T

TEET (XF)a—F {TIHET (KF) 4 60 61 62 63 64 65 66 67 68 69

4080 =;TiHmT 11 6 8 7 8 11 7 6 4 9
4090 FR B ET 8 7 9 12 14 10 9 13 9 11
4100 A EFNET 9 16 7 5 7 3 5 4 3 6
4110 Jt FFOET 10 10 12 6 7 0 10 5 9 10
9999 R XE 87 94 80 100 98 92 97 100 107 121
4510 ERE—FHET 22 28 34 24 32 32 39 27 25 31

4520 B FKMET 5 7 5 14 3 7 9 7 6 1
4530 ARE=FEHT 5 6 4 4 8 5 4 5 6 5
4540 AL EET 4 5 6 3 6 5 2 6 6 4
4550 AR A FMET 4 6 1 3 4 1 1 3 1 3
4560 BREE N TEHET 2 3 3 1 2 2 2 1 1 1
4570 L FHET 2 2 2 2 5 4 2 8 10 10
4580 AR )\ FHHT 3 3 4 0 7 3 7 6 5 2
4590 FRENEHET 5 8 5 2 3 4 5 3 2 4
4600 AL+ FHET 4 3 5 2 3 0 1 2 2 1
4610 ERE+ —FHET 8 3 4 4 6 2 4 4 7 1
4620 B+ — FKMET 4 6 9 12 7 7 7 6 8 10
9999 BERRXET 68 80 82 71 8 72 83 78 19 73
5010 RE#0 B HEHT 5 5 6 5 12 5 8 5 9 10
5020 B AN BA &L ET 1 7 6 6 7 5 11 6 3 5
5030 REFNE{_HT 3 4 8 5 8 3 4 5 6 5
9999 RBFIR X ET 9 16 20 16 27 13 23 16 18 20
5510 o R ET 3 7 14 17 10 12 7 4 7 12
5520 = Hh BT 19 15 16 13 9 29 27 26 22 32
5530 =y 18 12 16 13 27 17 13 18 18 18
5540 HERT 12 6 9 18 13 14 8 17 2 13
5550 BRHT 3 2 6 3 3 1 5 6 3 3
9999 =R XE 55 42 61 64 62 73 60 71 52 78
6010 i) BT /)N B 1 6 8 2 2 4 3 7 3 5
6020 fit] BT 4 3 3 7 7 4 7 3 6 4
6030 e BT &)1 3 4 5 6 3 1 4 5 3 2
6040 Bl M7 7 10 10 12 9 10 6 12 7 7
6050 JIIEB BT 8 11 2 5 7 3 9 10 5 7
6060 JIIEB BT 7 6 5 8 14 7 4 7 4 6
9999 BEERXET 30 40 33 40 42 29 33 44 28 31
6510 HEA#EAHET 1 1 1 2 1 0 0 0 1 0
6520 HE A KIEHT 4 11 8 11 10 6 15 14 11 11
6530 BHEAFHHET 3 7 7 8 5 4 5 4 5 2
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